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Question: 1

Which two cisco wlc management-access methods are available as the default setting? (choose two)

A. HTTPS
B. SSH

C. Telnet
D. HTTP

Answer: AB

Question: 2

How many dbm is 40mW?

A. 10dbm
B. 22dbm
C. 20dbm
D. 16dbm

Answer: D

Question: 3

Refer to the exhibit.

Receiver
Rx

Transmitter

Which option is the received signal power level at the receiver?

A.-46
B. -49.28
C.-45
D.-40.72
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Answer: C
Question: 4
How many types of control frames are only used in PCF mode?
Al
B.2
C.3
D.4
Answer: C

Question: 5

DRAG DROP
Drag and drop the infrastructure connections from the left onto the correct description on the right.

trunk Connects to access port on an
infrastructure switch
AP | Physical connections to the switched

I network infrastructure

LAG Distribution system ports are ususally
configured as unconditional 802.1Q port

WLC Used by controller to bundle distribution
system ports together

Answer:
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WLC

AP

trunk

LAG

Question: 6

Which two characteristics are components of mobility anchoring? (choose two)

A. Itis enabled as a global setting

B. Only one mobility anchor is allowed per WLAN.
C. Client traffic is tunneled to predefined WLC(s)
D. It acts as master controller for a mobility group.
E. Itis enabled on a per WLAN basis.

Answer: CE

Question: 7

Which two options are primary functions of the Cisco unified wireless LWAPP architecture? (choose
two)

A. Tunneling of VPN clients over the WAN

B. Control and management of the CAPWAP
C. Collection of 802.1Q trunks

D. Tunneling of WLAN client traffic to the WLC
E. Control and management of vtp

Answer: BD

Question: 8
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How many channels exist in the 2.4 ghz ISM band frequency space?

A 14
B. 16
C.20
D. 24

Answer: A

Question: 9

The IEEE 802.11n standard provides 40MHz channels, improved MAC efficiency, and MIMO. Which
three elements define the 802.11n implementation of MIMO? (Choose three)

A. Dynamic frequency selection
B. Maximal ratio combining

C. Channel bonding

D. Spatial multiplexing

E. Packet aggregation

F. Transmit beam forming

Answer: BDF

Question: 10

Which two organizations are regulatory domain governing bodies? (choose two)

A. ETSI
B. ICAN
C.FCC
D. IANA
E. IPS

Answer: AC
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